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M.A. (Economics) (Semester - I) (New) (CBCS) Examination:
March/April-2023
Micro Economic Analysis (MA24101)

Day & Date: Wednesday, 19-07-2023 Max. Marks: 80
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M.A. (Economics) (Semester - I) (New) (CBCS) Examination:
March/April-2023
Micro Economic Analysis (MA24101)
Day & Date: Wednesday, 19-07-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.
Q.1 Fillin the blanks by choosing correct alternatives given below. 16
1)  According to Paul Samuelson, reveals preference.
a) Money b) Purchasing Power
c) Price d) Choice
2) scientific methods of economic analysis are prevailing.
a) 2 b) 4
c) 6 d 8
3) External economies arise due to .
a) Localization b) Rationalization
c) Mechanization d) Nationalization
4)  Kinked demand curve is put forth by
a) Hicks b) Samuelson
c) Pawel sweezy d) Marshall
5)  The condition for the equilibrium of the firm is that
a) MR=MC b) AR=AC
c) TR=TC d MR=AC
6) Iso-quants are always to origin.
a) Concave b) Convex
c) Parabolic d) None of these
7)  Nature of production function is
a) Purely technological b) Continuous function
c) Differ from firm to firm d) All of the above
8)  The reasoning process from the particular to the general is known as
a) Deduction b) Induction
c) Growth d) Equilibrium
9) Indifference curve is that curve which shows the different combination of two
goods yielding the same level of .
a) Output b) Satisfaction
c) Utility d) Consumption
10) Product differentiation is the main features of
a) Prefect competition b) Monopoly
c) Monopolistic Competition d) None of these
11) Monopsony means a monopoly of
a) One seller one buyer b) Many sellers many buyers
c) Many sellers one buyer d) None of the above
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12) Price effectis
a) Related to income effect
b) Related to substitution effect
c) Combined effect of the both income and substitution effect
d) None of above

13) Non-price competition is the feature of market.
a) Perfect Competition b) Monopoly
c) Monopolistic Competition d) Duopoly

14) Average cost means
a) Total cost + Total production
b) Total cost + Marginal cost
c) Total production + Marginal cost
d) None of these

15) If the income of consumer increases his budget line will shift

a) Upward to the right b) Downward to the left

c) Rapidly down d) Inthe same place
16) Edgeworth’s duopoly model is based on variation of

a) Output b) Demand

c) Price d) None of the above

Write short Answers. (Any Four out six)
1) What is price leadership?

2) What is basic economic problems?

3) What is price effect?

4) What is deductive method?

5) What is multi product firm?

6) What is collusive oligopoly?

Write Short Notes (Any Two out four)
1) Positive economics.

2) Price discrimination.

3) Cobb-Douglas production function.
4) Eulers Theorem.

Broad answers question. (Any One)

1) What is monopolistic competition? State the characteristics of monopolistic
competition.

2) Explain the revealed preference theory.

Broad answers question.
What is Iso-Quant? Write features of Iso-Quants.
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M.A. (Economics) (Semester - I) (New) (CBCS) Examination:
March/April-2023
Economics of Growth and Development (MA24102)
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M.A. (Economics) (Semester - I) (New) (CBCS) Examination:
March/April-2023
Economics of Growth and Development (MA24102)
Day & Date: Thursday, 20-07-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the Correct Alternative. (1 Marks each) 16
1) is the prime occupation of underdeveloped countries.
a) Agriculture b)  Industry
c) Trade d) None of the above
2)  The rate of growth of population is in underdeveloped countries.
a) Lower b) Higher
c) Stable d) None of the above
3) The Pasinetti growth model is an extension of growth model.
a) Harrod-Domar b) Mahalnobis
c) Kaldor d) None of the above
4)  Vicious circle of poverty exits in countries.
a) Developed b) Progressed
c) Under developed d) None of the above

5)  Theory of ‘Economic Growth with Unlimited Supply of Labour’ is
propounded by .

a) Karl Marx b) John Keynes
c) Arthur Lewis d) None of the above
6)  According to Arthur Lewis most of the under developed countries are
having sector economy.
a) Two b) Three
c) Multi d) None of the above
7)  ‘Big push’ theory is propounded by .
a) Karl Marx b)  Arthur Lewis
c) Rodan d) John Keynes
8) Economic development denotes a change in the economy.
a) Quantitative b) Qualitative
c) Structural d) None of the above
9)  Economic growth denotes a change in the economy.
a) Quantitative b) Qualitative
c) Structural d) None of the above
10) is an important factor in the process of economic development.
a) Land b) Labour
c) Capital formation d) None of the above
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Q.5
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11) Harrod-Domar assigned a key role to in the process of economic
development.
a) Saving b) Investment
c) Rate of Interest d) None of the above
12) Solow’s growth model is growth model.
a) Shortrun b) Longrun
c) Classical d) None of the above
13) Solow’s growth model is also known as growth model.
a) Classical b)  Socialistic
c) Neo-Classical d)  None of the above
14) Kaldor assumes that technical progress depends upon the rate of
a) Savings b) Investment
c) Capital accumulation d) None of the above
15) Uzawa growth model is known as growth model.
a) Two sectors b)  Three sectors
c) Multi sector d)  None of the above
16) The concept of ‘Learning by doing’ is presented by
a) Solow b) Kaldor
c) Arrow d) Passinetti

Write Short answers. (Any Four out of six)
1) Explain the Balanced and Unbalanced development.

2) Explain differences between economic development and economic growth.

3) Explain any four indicators of Human development.

4) Intellectual capital

5) What is meant by Embodied and Non-Embodied technical progress?
6) What is the role of education and research in economic development?

Write Short Notes. (Any Two out of four)

a) Explain the characteristics of under developed country?
b) Explain the Uzawa model of economic development

c) Explain the ‘Big Push’ theory.

d) Explain the various factors affecting on economic growth.

Broad answers question. (Any One)

Explain the Schumpeter’s theory of economic development.
OR

Explain the Harrod-Domar model of economic development.

Broad answers question.
Explain the Cambridge criticism on Neo classical analysis of growth

LD-2

16

16

16

16

Page 5 of 5



SLR-LD-3
Seat
No. Set | P

M.A. (Economics) (Semester - I) (New) (CBCS) Examination:
March/April-2023
Economics of Environment (MA24103)
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Seat
No.

Set

Day & Date: Friday, 21-07-2023

Time: 03:

M.A. (Economics) (Semester - I) (New) (CBCS) Examination:
March/April-2023
Economics of Environment (MA24103)

00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 Choose the correct alternatives from the options.

1)

2)

3)

4)

5)

6)

7

8)

9)

10)

Environment economics studies the interrelationship between environment
and

a) Economic development b) Social development
c) Technological development d) None of the above
Economically strong India requires the most.

a) More Raw material

b) Trained Labour force

c) Plenty of Water

d) Sound Environment policy

is not conducive to environment.

a) Conservation b) Exploitation
c) Recycling d) Protection
is conducive to environment.
a) Deforestation b) Exploitation
c) Recycling d) Pollution
Earth day is celebrated on :
a) 22"9March b)  22"April
c) 22"sep d) 22" oct
pollutes the environment more.
a) Plants b)  Animals
c) Birds d) Human being
The United Nations Conference on human environment is held in
a) 1972 b) 1982
c) 1986 d 1996
The area which is gifted with plenty of bio diversity is called as
a) Gold spot b) Cold spot
c) Hot spot d) Green spot
O3isknownas_
a) Oxygen b) Ozone
c) Ocean d) None of the above.
leads to environmental problems.
a) Urbanization b) Industrialization
c) Modernization d) All of these

P

Max. Marks: 80
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11) is related with Chipko Movement.
a) Sunderlal Bahuguna b) Medha Patkar
c) Anna Hazare d) Rajendra Rana
12) Minerals are resources.

a) Renewable

b) Non-renewable

c) Renewable and Non-renewable resources
d) None of the above

13) Environment Day is celebrated on

a) 5th June b) 22" June

c) 22" April d) 5" may
14) The word ‘Bio-Diversity’ is coined by :

a) Walter Rosen b) Norman Mayer

c) John Mayer d)  Walter Disney
15) development is a true sustainable development.

a) Longterm b) Steady

c) Positive d) All of above
16) Environmental goods are goods.

a) Private b) Public

c) Private and Public d) None of the above

Write Short answers. (Any four out of six)

1) What is environment audit?

2) What is bio-diversity?

3) What is environmental economics? Explain its importance.
4) What are social benefits of environment?

5) What is cost-benefit analysis?

6) What is environment impact assessment?

Write Short Notes. (Any Two out of four)

1) What is eco system? Explain the types of eco system.

2) What is the role of Government in environment protection?
3) Economic development and environmental problems.

4) Social benefits of environment.

Broad answers question. (Any One)
1) What is bio-diversity? Explain the importance of bio-diversity.
OR
2) What is sustainable development? Discuss the significance of sustainable
development.

Broad answers question.
“‘Environment protection is everyone’s responsibility”. Discuss.

16
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M.A. (Economics) (Semester - I) (New) (CBCS) Examination:
March/April-2023
Principles and Practice of Cooperation (MA24104)
Day & Date: Saturday, 22-07-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
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Seat
No. Set| P
M.A. (Economics) (Semester - 1) (New) (CBCS) Examination:
March/April-2023
Principles and Practice of Cooperation (MA24104)
Day & Date: Saturday, 22-07-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
Q.1 Choose the correct alternative from the following options. 16
1) Alltrading in cash is principle.
a) Rochdale b) Raiffeisen
c) Schultze d) All of these
2) is a problem of processing co-operative in India.
a) Lack of capital b) Row material
c) Old machinery d) All of these
3) The chairman of the co-operative society be selected from
a) Members b) Directors
c) Employee d) None of these
4)  The need for the establishment of apex bank in co-operative sector at state
level was recommended by
a) Maclagan Committee b) Nanawati Committee
c) Swaminathan Committee d) Gorwala Committee
5)  The source of working capital of primary agricultural credit co-operative
societies includes
a) Share capital b) Reserve fund
c) Borrowings d) All of these
6) In Maharashtra the first co-operative sugar factory was started in
a) 1949 b) 1950
c) 1955 d) 1965
7)  The Banking Regulation Act (1949) effected to urban co-operative banks
from the year .
a) 1961 b) 1962
c) 1964 d) 1966
8) In 1966 the ICA expert committee accepted essential principles of co-
operation .
a) 4 b) 5
c) 6 d 7
9) The co-operative sugar factories are concentrated in
a) Maharashtra b) Karnataka
c) Madhya Pradesh d) Bihar
10) Head office of NAFED is located at .
a) Mumbai b) Pune
c) Chennai d) Delhi
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11) The organization of co-operative marketing societies in India are of

nature.
a) Local b) Independent
c) Federal d) International
12) National Co-operative Consumer’s Federation was established in
a) 1963 b) 1965
c) 1967 d) 1969
13) The main motto of co-operative movement is
a) capital formation b)  profit motive
c) political motive d) voluntary motive
14) is the apex body of labour co-operative movement in India.
a) NLCF b) NCCF
c) NABARD d) NAFSCOB
15) Co-operation is a middle way between :
a) capitalism and communism b) socialism and communism
c) capitalism and socialism d) Allof these
16) is a working area of DCCB.
a) Village b) Taluka
c) District d) Nation

Write short Answers. (Any Four)

a) What is Co-operation?

b) State the objective of state co-operative banks.
c) What is co-operation among co-operatives?

d) State the Rochdale principles of co-operation.
e) Define micro finance.

f)  What is Housing Co-operatives?

Write Short Notes. (Any Two)

a) Problems of land development banks.
b) Values of Co-operation.

c) Problems of labour co-operatives.

d) Fruits and vegetables co-operatives.

Broad answers question. (Any One)

a) Explain the progress and problems of Consumer’s Co-operatives in India.

b) Explain the role of co-operation in mixed economy.

Broad answers question.
Explain the structure, progress and problems of Urban Co-operative Banks.

16

16

16

16
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Seat
No.

Set| P

M.A. (Economics) (Semester - I) (New) (CBCS) Examination:
March/April-2023
Industrial Economics (MA24105)

Day & Date: Saturday, 22-07-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

I : 1) G ¥ frard e,
2) ITdIbeld 3 Yoi [oT SeIfar.
U1 el faelel A7 TG fagH MaeledT SN 9. 16

1)  Ud SURTARAT Si UHUel S oAy fo=ar Sdres darar IR
HRA ——— A U,

37) Wil Husl 9) SIS B
®) I TSI B ) dWId |d
2) dnie TeaR=ad MEnfie e —— Rigia faer e,
3) IMYfie dgd 9) IR® dgd
%) Tolac! gd S) AUD! Brerel el
3) ——— T SUNEIE IRE 3%,
3) A %I §) ST 9requr
@) fopIs TP 3 W Fd
4)  "Teleldd! PHIoTdr NEP 3faiid Id ATel?
3) TERIBIT q)  SIRTfCIh TN
CIRRCINRICaS] )  ATHTSTHIHRIT
5)  TYolUloll Jfd¥d D! HIOd U Hel ol ATal?
) Frfdas C)RRCEL ]
®) FDI ol URaTT <o S) FHEN AR Tgal

31) STl Uhl NIRIRCARIGIN QCbI{;ICi D]

q) 37O® Worll AUl TR ol
®) AT TSI I ITRIHIUT YY)
) YD AT

7) SERIBRU RIN] Bry?
31) SRITAT UHhT ST ITaTd Yabi=d vl
) 37 Wil AUl TR Qo
%) ITEARIT TSI I SERIBRIT HRU|

) DT AR
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8)  WISHIIhRIT ISl HIY?
31) STl Uehl STRTIcIeh ITaTd Uehl 3 o]
q) AE WIS ATl URaATT <ol
@) AFATIRIT IFSUT IHMOT IERIDHRIT BRI

) DT AR

9)  RTHAIH® Holdll 98 —— BRIGHAGR ATGR Dol e,
31) A amfefd enRor §) 99 Aeford R
%) TN gRoT S) VSR AR 9RO

10) 1980 TIT ITREITT ——— IT ARSI AR HRATAT 3MAF AT <%
EHell Bl
31) SMITHYS MM SRS §b
q) ofenfre foa frm
b) SRR BTHITR HECH]
$) 37T 30T Hul FereT
11) gﬁﬁmmﬂ@ﬁ@ﬁmmmﬁmﬁ———w

) FfeussTiprR q)  #han
) HHaN! W S) gEHE

12) WRHR FheN FRH $T H=d?
31) IaT R oy q) T UcdET Qo
®) BT JaR ) W 9

13) U AT —— §R HHI HRaT Jgd.
37) gg—r A d)  HER AT Y SRNT
®) HAIS SN S) A 9d

14) SN AT MBR SRAVIR HSH
) THAHUTE! YaFhH d)  HFRTRE ST
®) IID €) o a4

15) EART I ——

3) SIS S IAAHATAT AT ©e
¥) AU OC STedrge Icara-rd °c
) fhHeId o SMearges Hiedl Sed—~Id ©e

) WAUD! dlerel el

16) ETeilaiud! Hior Rere I it gfsamreh e AEl?
3 ghe gxe 3fe giear

9) YRA fenfe faes 9@

@) PYI AT AETHSD

) og fawr
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) ond fawmrara IR ST

§)  TSEbe 9% e e Rigid.
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Seat
No. Set| P
M.A. (Economics) (Semester - I) (New) (CBCS) Examination:
March/April-2023
Industrial Economics (MA24105)
Day & Date: Saturday, 22-07-2023 Max. Marks: 70

Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 Choose the correct alternatives from the options. 16

1)

2)

3)

4)

5)

6)

7

8)

9)

A company which extends its productive services in more than one country
is called as

a) Private company b)  Public company
c) Multi National company d) All of these
Sargent Florence has given theory of industrial location.
a) Modern method b)  Inductive method
c) Deductive method d) None of these
is the objective of a firm.
a) Normal profit b)  Profit Maximization
c) Marginal profit d) All of these
Which one of the following does not come under NEP?
a) Liberalization b) Globalization
c) Privatization d) Socialization
Which of these measures were not taken under LPG?
a) Disinvestment b) Devaluation
c) Allowing FDI d) Monopoly trade practices

What is meant by globalization?

a) Integrating world into a global village
b) Allowing more private investment

c) Opening and liberalizing the economy
d) None of these

What is meant by liberalization?

a) Integrating world into a global village
b) Allowing more private investment

c) Opening and liberalizing the economy
d) None of these

What is meant by privatization?

a) Integrating world into a global village
b) Allowing more private investment

c) Opening and liberalizing the economy
d) None of these

Structured changes were introduced by the program.
a) New economic policy b) New education policy
c) Industrial policy d) National health policy
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10) Inthe late 1980's this international organization had offered financial
assistance to India.
a) IMF and World bank
b) Industrial Finance Corporation
c) International Labour Organization
d) Food and Agricultural Organization
11) The marketis structure with a seller and a large number of buyers.
a) Oligopoly b)  Monopoly
c) Monopolistic competition d) Duopoly
12) Why does government regulate monopolies?
a) Prevent excess prices b) Promote competition
c) Promote welfare b)  All of these
13) The regional imbalance can be reduced by
a) Multi-national corporation
b) Cottage and small scale industries
c) Large scale industries
d) All of the above
14) Factors determining the size of firm
a) Amount of machinery b)  Number of workers
c) Investment d) All of the above
15) Depreciation is
a) Reduction in the value of machinery due to wear and tear
b) Reduction in output due to fall in demand
¢) Reduction in firm’s income due to a fall in the price
d) None of the above
16) Which of the following is not an affiliate of the Reserve Bank of India?
a) Unit Trust of India
b) The Industrial Development Bank of India
c) Agricultural Refinance Corporation
d) Deposit Insurance Corporation
Answer the following questions (any Four) 16
a) State the meaning of industrialization.
b) Explain the concept of firm and industry
c) Define the concept of small scale industries.
d) State the any four demerits of Multinational companies.
e) State the any four objectives of a Firm.
f)  Explain the size and growth of a Firm.
Write short notes (Any Two) 16
a) Role of industries in economic development.
b) Alfred Weber’s theory of industrial location.
c) Impact of Multinational companies on Indian industries.
d) Problems of Indian industries.
Write answers of any one of the following. 16
Explain the classification of Industries.
OR
Comment on industrial productivity & efficiency of Indian industries.
Explain the role of Multi-National corporations and its impact on Indian 16
industries.
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Seat
No.

Set| P

M.A. (Economics) (Semester - I) (New) (CBCS) Examination:
March/April-2023
Financial Institutions and Markets (MA24106)

Day & Date: Sunday, 23-07-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

I : 1) G ¥ frard e,
2) ITdIbeld 3 Yol o7 SeIfaar.

U1 ETelid felel A7 qaig fHagd Meeiedn SR 4. 16
1) AT A HEQid AR A 37Tz,
31) UTEPr dfera™
§) d® Alfeldd U
%) ufer
S) Wisdel AT YRS HRUATAT HFTOR

2) Ul TH. d% IMMHR IATe.

) IRAT o SR §) Wl SaRT

®) STcd (y el §HidR) ) &fST (X 3feTell FHiaR)
3) —— T HARMA ddhd T BRI IR,

3) ud = 9) uq fmfo

®) onfde fead $) dIcTUd! BIUCE! AT
4) SMYF® IR offh SewRcar aTuR M=,

3) 3IMIUH dh AT dTuX d) TUUH dh a7 dTIR

@) IMATH—VITH AfSerdl aqR §)  Uem=ar ANToi=r aroR
5) ——— NP FIRHR TS &R qIGIRIGA Gehqul iR det STrard.

3) rfddmiad q) fawRa

@) afd ) AESI®
6) 3Nfd IRV HafSd 37Tz,

31) dfpradier fiaor q) o< FenaR FEEo

®) ULl qRESITER FRFT ) eiciUd! PIVE! ARl
7) IR gETg RIgid WRE” AIeR ddl 3%,

3) S UH. o g) ofen Rey
®) Sf. A g o 4L
8) WAl ddedl ud FRIFUITAIST HIvd SURT 3Med?
) URATIHS U §)  TUTHS U
@) 31) T 9) ) WD BT AT
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9) S—dfdT & vd —— dfHT R
31) TIvH g) gexAc
®) AIARID S) NP BIEET S
10) ——— 3IrFEfeT &I I,
3) IS dbT q) AGEID dhbl
®) TEBNI dbl S) WEadR
11)  3TMiY® gRT —— JHER ANL Dol S,
3)  IMIHRIHI q) ufdad
®) HeFAl s) Y
12)  SRENRMIY ALIIHIU —— HAL ol el BI.
37) 1955 q) 1982
®) 1949 ) 1947
13) ——— T Alc AT ORI Dol ST,
31 10 q) 100
%) 01 ) 1000
14) 2T o1 =R AT SRSl TSl &¥e —— Aisd [AeRid dal.
) AT 9 T
®) IS-LM S) A4
15) fse MR ufhar gR dell o,
&) g I 9) WEPNI dehl
@) dgd 9B ) AEAEdd dHb1
16) faaRra snffe e e &R —— gR fFRIiRa ol A,
) INA q) AdhR
F) T TR %) iga ¥
NS ST ol (PIvEl aR) 16
)  aniefe AeRell U H?
§) FoHAYI® SR AT,
®) 3 dfbT mWUS Hra?
S) scxde dfdma
3) DRR BT " Hra?
3) e e fdas
JrsqaTa SR forgl. (PIvRiE! <) 16
3)  anfde R .
§) e wae T e fad.
®)  IolexTdl ARER RyeaTa.
S) Dol ST A=A SRIAEY B,
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94 <A Y. (PIUCET Th) 16
faar
oIl h~Hdl dXIdl] ﬁf&illd TS DN,
U5 SIERN T9. 16

TGl dhal PRI T BT,
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Seat

NO. Set| P

M.A. (Economics) (Semester - I) (New) (CBCS) Examination:
March/April-2023
Financial Institutions and Markets (MA24106)

Day & Date: Sunday, 23-07-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternatives from the options. 16
1) Classical theory of interest is depends on
a) Sacrifice of consumer
b) Preference of time series
c) Waiting
d) Demand for capital and supply of capital

2)  The shape of L.M. curve is

a) Upward sloping b) Downward sloping
c) Vertical (parallel to ‘y’ axis) d) Horizontal (parallel to ‘X’ axis)
3) is the main function of Commercial Bank.
a) Credit control b) Credit creation
c) Monetary targeting d) None of the above
4)  Inthe Modern Theory of Interest is use of
a) Use of IS curve b) Use of LM curve
c) Use of IS-LM model d) Use of demand for money
5) Inthe financial system interest rates are freely determined by the
market.
a) Undeveloped b) Developed
c) Controlled d) Public

6) Monetary policy is related to
a) Control on banking
b) Control of financial institutions
c) Control of supply of money
d) None of these

7) The"‘Liquidity Preference Theory of Interest” is introduced by

a) J. M. Keynes b) Adam Smith
c) Dr. Marshall d) J.B.Say
8)  What are the measures of credit control of the central bank?
a) Quantitative measures b) Qualitative measures
c) a)andb) d) None of the above
9) E-Bankingis a banking.
a) ATM b) Internet
c) Commercial d) None of these
10) comes under unorganized sector.
a) Nationalized Banks b) Commercial Banks
c) Co-operative Banks d) Money Lenders
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11) Monetary Policy is implemented by Bank.
a) ICICI b) AXIS
c) Central d) State
12) The Nationalization of RBI was done in .
a) 1955 b) 1982
c) 1949 d) 1947
13) The note of Rupee is issued by the Government.
a) 10 b) 100
c) 01 d) 1000
14) The economists Hicks and Lerner develops the model of rate of
interest.
a) Classical b) Old
c) IS-LM d) New
15) The process of credit creation is done by .
a) State Bank b) Co-operative Bank
c) Central Bank d) Commercial Bank
16) Inthe developed financial system interest rates are determined by
a) The Government b) Money lenders
c) Free Market d) Central Bank

Write Short answers (Any four out of six)
a) What is financial intermediation?

b) Instruments of monetary policy.

c) Whatis ‘E’ Banking?

d) Merits of Internet Banking.

e) Whatis core banking?

f)  Indicators of financial development

Write Short answers (Any Two out of four)

a) Structure of Financial System.

b) Financial System and Economic Development.
c) Classical theory of rate of interest.

d) Difference between lending and deposit rates

Broad answers question (Any One)
Discuss about the aims and objectives of monetary policy in developing
countries.
OR
Explain the Keynesian Liquidity Preference Theory of rate of Interest.

Broad answers question
Explain the functions of Central Bank.

16

16

16

16
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Seat
No.

Set| P

M.A. (Economics) (Semester - I) (New) (CBCS) Examination:
March/April-2023
Indian Economic Policy (MA24107)

Day & Date: Sunday, 23-07-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
AT 2 1) 9G9I SRt 3Te.

2) SoldIdbSIal 3 Yol T[0T TR,

U1 e fotel I gate fFasd Meeiedr ST #RIL 16
1) IR GEarye Jroal dle ——— I8,
3) 2007—12 q) 2012—17
@) 2002—07 S) 1991—96
2) ——— Al HEIIHISH ay’ d9el SN,
31) 1991 q9) 1921
P) 2011 €) 1951
3) —— B YR Ndd=erar Bl 3MR,
3 dfeT &= §) oA
$) SERT ) war &
4) foivr foem fcene —— o SEfea o=
3) ATHAEIT 3NThR q) IS STl MR
P) AHART Tl S)  foii Ui
5) anfd& e & —— ufdhar Ire.
J) <HdIS q) 3[HBID
%) 3ffTedhIes ) WIAdD! TRl
6) UM fd®mErer —— B Ud gcdh 3%,
3) dredH q) 4
D) TBUTRUT S) I Y
7) SO UTaitd ATeT (1956—61) UCAMIER TR Bl
) WL IR q) eI
%) Ul Wl A S) oL U gHEIeR
8) el MRANNA SHeR —— 3R,
31) dred §) Hed
®) Rer 3) Ii@T AR
9) HURAM —— <EMMHSA RS T3 WIhRe.
3) sae q)  IMR®T
®) U ) XRmr
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10) TRreToTT=aT SMfSeRIET HIIGT —— AT IuI ST,

31) 2001 d) 2005

%) 2009 €) 2012
11)  a7fe 9@l & —— sRfgavell Hafd Hdheur s,

31) BRI q) faeRad

&) Sfapiid §) N Y& A
12) ARAN Fel SIRGE —— 2T N AoTel ST,

3) SrUfddRid q) SHG

%) reeiEE SERICCIIC

13)  HRAIA —— IT AT S—7Y UIRR Fa1D TS

3) TGS, q) oy
) HERTE T) P@
14) —— B RO Ao Siesed s,
3) i g&l q) gl
D) JAYfADHIBROT S) oo |4
15) . TA. SI. Ul AT AP FQene 2010 THR ARAMET GAEGY ——
Terd el ST,
3)  Sffd Iea Al fderd q) g Al fderd
$) T "4l f[der ) 3fcd A4l fae

16) WA ERGRA @YUl JqUT & HRIGA (MG U) —— I 99 go
Dl

37) -1972 q) 1973
) 1962 €) 1977
GTeidia! BIVATE! AR Tl Sy foraT. 16

1)  OIERE RS Hrg?

2)  CATHEEEl OdT RS BY?

3)  IEIGRY WU Hrg?

4) AIHAE ARG T BN BI?

5)  WRAId T4 3 GAROM PIoredm ui AT ATedT?
6) HIAl [ADHM TSl Hrg?

Gleilelde! P! a9 feur forsr. 16
1) anfdfe fawma= HrRo.

2)  HHISTD EREA]

3) ol ARA
4)  UTHIUT—IEN WIATORET g4l W B,
TTAAUD] DIVIATE! THT T Iy forar. 16

1)  ARAR MRS J9 9 UIRIER forel.
2) oMfde fadr™ SIBIA 9 AT UGl T A1,
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U5 <rERm U9 . 16
TRATNA SIREATT HIRY FTT.
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Seat
No. Set| P
M.A. (Economics) (Semester - I) (New) (CBCS) Examination:
March/April-2023
Indian Economic Policy (MA24107)
Day & Date: Sunday, 23-07-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
Q.1 Choose the correct alternative from the following options. 16
1)  The period of 12t five year plan is
a) 2007-12 b) 2012-17
c) 2002-07 d) 1991-96
2) is considered as a ‘“Year of Great Divide’ of population.
a) 1991 b) 1921
c) 2011 d 1951
3) is the backbone of Indian economy.
a) Banking sector b)  Agriculture
c) Industry d) Service
4)  Gender Development Index is related with
a) Size of population b) Size of National Income
c) Density of population d) Sexratio
5)  Economic development is a process.
a) longterm b)  short term
c) very short term d) None of the above
6) is the major component of infrastructural development.
a) Transport b) Energy
c) Telecommunication d) All of these
7)  The second five year plan (1956-61) was based on model.
a) Prof. Rostow b) Harrod-Domar
c) P.C. Mahalanobis d) J.A. Schumpeter
8) Presently India’s birth rate is going to
a) Increase b) Decrease
c) Constant d) None of these
9) India has adopted the technique of planning from country.
a) England b) America
c) Japan d) Russia
10) The Right to Education Act was enacted in
a) 2001 b) 2005
c) 2009 d 2012
11) The concept of economic growth is related to economy.
a) Less developed b) Developed
c) Under developed d) None of these
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12) In India presently poverty is measured on the basis of

a) Health b) Calories
c) Standard of living d) All of these
13) The highest sex ratio is found in state of India.
a) Tamilnadu b) Andhra Pradesh
c) Maharashtra d) Kerala
14) are the objectives of Indian planning.
a) Economic growth b) Self-reliance
c) Modernisation d) All of these

15) According to UNDP Human Development Report -2010, India is included in
group.
a) Very high human development b) High human development
c) Medium human development d) Low human development

16) The Government of India started Drought Prone Area Programme (DPAP) in
a) 1972 b) 1973
c) 1962 d 1977

Write short Answers. (Any Four out Six)

a) What is Environment?

b) What is density of population?

c) What is urbanization?

d) What is occupational structure of population?

e) When was introduced the new economic reforms in India?
f)  What is mean by Human Development?

Write Short Notes (Any Two out Four)
a) Causes of economic inequality.

b) Social infrastructure.

c) Energy resources.

d) Explain rural - urban migration trend.

Broad answers question (Any One)
a) Write on the achievements and failures of Indian planning.
OR
b) Explain the approaches and measurement methods of economic
development.

Broad answers question.
State the causes of poverty in India.

16

16

16

16
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NO. Set| P
M.A. (Economics) (Semester - II) (New) (CBCS) Examination:
March/April-2023
Micro Economic Analysis (MA24201)
Day & Date: Wednesday, 19-07-2023 Max. Marks: 80

Time: 11:00 AM To 02:00 PM
I : 1) G ¥ Afrard anea.
2) SoldIdbSIal 3 Yol T[0T TR,

3) 3MATTD T b ATHAT Bl

I gy e Remar s w. 16

a1

1)

IIHHA T+ —— HferAEE Aol Pefl.
) EY HABTHIDBRUT §) BT FAETTHIDHROT
%) fdo! I~ AETHIBRT 3) Wl 94

——— iR WA, WSTaT A Gdrdr 8l Al oA axgdl fhad
GIJAR oXd AT

) Reret q) Sf. Al

%) 3feq e ) O UH. &=

——— JIT A, IASAT HedToT 8T SRIPRATE & 3R fd9y 31e.
a7) dfew R 9 o

) Reprst S) oL AL

AT 31efemes & ——— SR I T,

) geH §) Wl

®) M S) U

e I gfod e —— o e e,

31) Td AEIHIBRT q) JUTGT HETHIBRIT

P) THHT ASTHIDHRT ) APB1 HETHIDHRT]
fa9rSTTeaT WHid Scareddl RYERTAaR Scred gcdid didael §
AT —— IATahdgdd .

3) T q) AR

) TRl SIRCRC ]

ATATNTG ST B 8 Adhed-] —— AT Ararell & 3.
31) 3fsH A q) A

%) . AR ) SL.UA. D

faaT =/l —— 81

37) Il sl HU] q) TR HETHIhN]

®) Gl THRIOT S) W |4

qafar foaa Regid —— I+ Aise.

31) Sf. A §) . UA. &=

@) o 4. 9 ) O T 99
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10) G IR d5ael QAT SIUIRT A&l ool —— B,
) T §) dad
&) T s) W
1) Do, e for ARICaw ! I+l —— T@ Al
31) RUTS §) SUHRT
®) I[ddYDH SECER]
12) o= refemes —— Jfer A1 Sugad TR,
) UESD ¥) JcaIch
®) TRPR SEENEESE]
13) ARG IENT U —— TieT AlSd
37) 3fed W 9) #¥a
%) Sf. qreid ) . TH. >
14) Ui @ 9GS HRUAT UM ——— JI-T A Sel.
) = iy f2g §) HTIi o B
%) 3feH Rwer ) Rarst
15) ‘TN diucd & Jq —— IqiAT fotfdar.
31) 3fsd R=er §) Pl AD
%) Raret ) O TH &
16) O] I=AT /il —— &7 3Mfdes dwearomar fFdere s,
31) T [AID 9) W foafd
$) I IA~ ) ALY AT
Gl ! PIVATE! AR Feial S foral, 16

1) Fauad gUrel BrI? TAIUdaATd YHR FI.

2) DGR AT & HHeUAT FT DI,

3) Jad urel Hra? YMTel da+ 3T aRad dd+ 7 HdheddT T B,
4) TIRTH HATOT Helrdl dfRTey .
5)
6)

= sefem= 7w 9.
IR YhR T,

Jrsqara feur forel. (@oreE 39) 16
1) A IF I HeAToTdl Aol
2) BT DT HROT IO T IARfAoT
3) TSIl NIhe U Yol fRyeard
4)

waier feua Ryegia
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U4 WOER SR el (@vEr i) 16
1) Ja=Tar REia Sdredar Riegid e .
fopar
2) HMINTH B JHA WRUG dd T A1,

U5 AR TS Agcdd WK 6. 16
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M.A. (Economics) (Semester - II) (New) (CBCS) Examination:
March/April-2023
Micro Economic Analysis (MA24201)

Day & Date: Wednesday, 19-07-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draws the neat diagrams wherever necessary.

Q.1 Choose the correct alternative. 16
1)  Baumol put forth the model of
a) Cost maximization b) Profit maximization
c) Sales revenue maximization d) Allthe above
2)  According to rent does not enter into cost and does not determine
price of the product.
a) Ricardo b) Dr. Marshall
c) Adam Smith d) J. M. Keynes
3)  According to state welfare is the main subject of economic study.
a) Adam Smith b) Pigou
c) Ricardo d J.B.Say
4)  Economics of information is the branch of economics.
a) Micro b) Macro
c) Labour d) Rural
5)  Williamson’s model is concern with the
a) Cost maximization b)  Production maximization
c) Price maximization d) Profit maximization
6)  According to the theory of marginal productivity of distribution, the reward to
the factor of the production are given by productivity.
a) Marginal b) Average
c) Total d) Allthe above
7)  The concept social welfare function is related with the name of
a) Adam smith b) Bergson
c) Dr. Marshall d) J. M. Keynes
8) Insurance means
a) Risk Pooling b)  Maximization of profit
c) Risk spreading d) All the above
9)  Limit pricing theory has been put forth by .
a) Dr. Marshall b) J.M. Keynes
c) J.B.say d) J.S.Bain
10) is a reward for parting with liquidity.
a) Rent b) Wages
c) Interest d) Profit
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11) Kaldor, Hicks and Skitovsky introduced the principle.
a) Compensation b) Consumption
c) Investment d) Saving
12) Economics of insurance is useful for
a) Consumer b)  Producer
c) Government d) Allthe above
13) The model of managerial enterprise has been put forth by
a) Adam smith b)  Morries
c) Dr. Marshall d) J.M. Keynes
14) The model full cost pricing is related with the name of .
a) Hall and Hitch b) Marshall and Keynes
c) Adam smith d) Ricardo
15) The book ‘Das Capital’ is written by
a) Adam smith b) Karl Mark
c) Ricardo d) J. M. Keynes
16) According to Pigou is the indicator of economic welfare.
a) National Investment b) National Export
c) National Income d) National Import
Write Short Answers. (Any Four out of Six) 16

a) What is Innovation? State the types of Innovation.

b) Explain the concept of Welfare Economics.

c) Whatis Wage? Explain the concept of money wages and real wages.
d) State the features of social welfare function.

e) State the importance of Economics of Insurance.

f) State the types of risk.

Write Short Notes (Any Two out of Four) 16
a) Amartya Sen’s concept of welfare

b) Risk pooling and risk spreading

c) Liquidity preference theory of interest

d) Limit pricing theory.

Answer the following questions in detail. 16
a) Explain the marginal productivity theory of wages.
b) Explain the compensation principle of social welfare.

Explain the importance of Economics of Information. 16
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Seat
No. Set| P
M.A. (Economics) (Semester - II) (New) (CBCS) Examination:
March/April-2023
Economics of Growth and Development (MA24202)
Day & Date: Sunday, 23-07-2023 Max. Marks: 80

Time: 11:00 AM To 02:00 PM
I : 1) G ¥ frard e,

2) ITdIbSld 3 Yol o7 SeIfar.

U1 ETelid felel A7g qaig fHagd Maeiedn SR 4. 16

1)  —— B AT oW G 9 dRIE 31Te.
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@) Tgfay fUhygd S) Wl |d

2) —— B AMRA S THAAT Aded BRI TR 3ATE.
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@) gdel Bidl ) WD AR

3) AR P dFAHS U ATl —— b BIal.
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31) UITEROT E)IGESIE]
®) WISda T e I
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3) Wb q) RS
%) T ) WAdd! ATel

6) SIENRTHRUMS ——— TS Ud.
31 IoNTR A §) URME TR
F) FARETET G aTaR ) W 4

7)  EREAAG AR ——— =7 [JRrarar qAdel grar.
) T d) e
F) IBUGHBIT ¥ W Fd
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3n) ol q) e
®) AMUR S) AWAUD! ATEl
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M.A. (Economics) (Semester - II) (New) (CBCS) Examination:

March/April-2023

Economics of Growth and Development (MA24202)

Day & Date: Sunday, 23-07-2023
Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 Choose the Correct Alternative.
is the characteristic feature of New Agricultural Technology.

1)

2)

3)

4)

5)

6)

7

8)

9)

10)

Max. Marks: 80

16

a) Use of HYV seeds b) Use of chemical fertilizers
c) Multiple cropping d) All the above
is the outcome of implementation of New Agricultural Technology.
a) Green revolution b) Blue revolution
c) White revolution d) None of the above
New Agriculture Technology leads to growth in agricultural production.
a) Quantitative b) Qualitative
c) Objective d) None of the above
Sustainable agriculture means development of agriculture sector.
a) Eco friendly b) Techno friendly
c) Capital friendly d) None of the above
Agriculture and Industry are to one another.
a) Complementary b) Contradictory
c) Substitute d) None of the above

Industrilisation leads to

a) Employment generation

b) Expansion of trade

c) Optimum utilization of resources
d) All the above

Infrastructural development includes development of

a) Road b) Railway

c) Communication d) All the above
GATT is related with sector.

a) Agriculture b) Industry

c) Trade d) None of the above
WTO comes into exits in .

a) 1975 b) 1985

c) 1995 d) 2005
Monetary policy is designed by .

a) SBI b) CBI

c) IDBI d) RBI
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Q.3

Q.4

Q.5

11) is an instrument of monetary policy.

a) Bankrate b) Tax

c) Budget d) Public debt
12) is an instrument of fiscal policy.

a) Tax b) Bank rate

c) Transaction of debentures d) Cash reserve ratio
13) Foreign direct investment is an important indicator of

a) Social development b) Cultural development

c) Economic development d) None of the above
14) TRIPS is related with

a) Intellectual property b) Tourism

c) Telecommunication d) None of the above
15) TRIMS is related with

a) Production b) Distribution

c) Savings d) Investment
16) When the debt is raised from out side the country it is known as

public debt.

a) Internal b) Domestic

c) Foreign d) None of the above

Write Short answers (Any four out of six)
a) What are the instruments of fiscal policy?
b) What is meant by burden of borrowing?

c) Whatis infrastructure?
d) Explain any two objectives of WTO
e) What is monetary policy?

f)  What is meant by sustainable agricultural growth?

Write Short Notes (Any Two out of four)

a) New technology in agriculture
b) WTO and India

c) Cost-Benefit analysis

d) Shadow prices

Broad answers question (Any One)

Explain the pattern of industrilisation in developing countries.
OR
Explain the role of Monetary Policy in Developing Countries.

Broad answers question.

Explain the need of investment criteria in developing countries

SLR-LD-9

16

16

16

16
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Seat
No.

Set| P

M.A. (Economics) (Semester - II) (New) (CBCS) Examination:
March/April-2023
Economics of Environment (MA24203)

Day & Date: Tuesday, 25-07-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM
I : 1) G ¥ frard e,

2) SoldIdbsSIal 3 Yol T[0T TR,

U1 Arg i e o 16
1) 2011 Fefiel WRAT dldaE —— Bl
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31 uRRercdies a3 q)  UITERoT ST S
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Seat
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M.A. (Economics) (Semester - II) (New) (CBCS) Examination:
March/April-2023
Economics of Environment (MA24203)
Day & Date: Tuesday, 25-07-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the Correct Alternative. 16
1) India’s population in 2011 was .
a) 125 crores b) 130 crores
c) 140 crores d) 110 crores
2)  World Population Day is celebrated on :
a) 15 August b) 11 July
Cc) 26 June d) 11 September
3) Forestation means
a) Plantation of trees b) Destruction of trees
c) Forest policy d) Social forestry
4) Forests are resources.
a) Renewable b)  Non-renewable
c) a)andb) d) None of the above

5)  WWEF stands for .
a) World Wide Fund for Nature b) World Wide Forest

c) World Wealth Fund d) World Wild Fund
6) A pitch of noise which human can hear without discomfort is
a) 60db b) 90db
c) 110db d) 200db
7) is the major air pollutant.
a) Fungi b) Plastic
c) Bacteria d) Flyash
8) Ecology is the study of
a) Ecosystem b)  Environment and organism
c) Environment d) None of the above
9)  Soil erosion can be prevented by
a) Deforestation b) Forestation
c) Grasses d) None of the above
10) Waste lands are :
a) Dryland b)  Unproductive land
c) Ecological unsustainable d) Grassland
11) India ranks in world population.
a) First b) Second
c) Third d) Fourth
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12) Eco-development means

a) Economic development b) Ecological development
c) Economic growth d) Physical development
13) The term “Eco-system” was introduced by :
a) Arthur Tansley b) Lewis
c) Ricardo d) J.Mills
14) Bio-gas is source of energy in .
a) Under developed country b) Developed country
c) European county d) Socialist country
15) Unfavorable alteration of our surrounding is known as
a) Pollution b) Industrialization
c) Urbanization d) Rationalization
16) The salinity of soil increases due to :
a) Excess irrigation b) Lack of irrigation
c) Over grazing d) Change in cropping pattern

Write Short answers. (Any four out of six)

a) What is the cause of depletion of ozone layer?

b) What is greenhouse effect?

c) Whatis environment conservation?

d) What is waste management?

e) Whatis sound pollution?

f)  State any two causes of environmental degradation.

Write Short Notes. (Any Two out of four)

a) Environment Protection Act 1986.

b) Agricultural growth & environmental degradation.
c) Urbanization & environmental degradation.

d) Air pollution.

Broad answers question. (Any One)
a) What is environmental degradation? Discuss the relationship between
agriculture development and environmental degradation.
OR
b) Explain the relationship between New Economic Policy and environment.

Broad answers question.
What is environment pollution? Discuss the causes of environment pollution.

16

16

16

16
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M.A. (Economics) (Semester - II) (New) (CBCS) Examination:
March/April-2023
Principles and Practice of Cooperation (MA24204)

Day & Date: Thursday, 27-07-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM

I : 1) G ¥ Afrard amea.
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U1 A i ey Rerr s R 16
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31) HAd <RI q) orffed Tl
F) AT vrsadt SEREISISEEIR
3)  SHIHAN AT A FHeaR AT F9 —— AL RATIA STedl.
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1) UTEh FEhRI FRI ®|orsl Hhg?
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Marks: 80

Seat
No.
M.A. (Economics) (Semester - II) (New) (CBCS) Examination:
March/April-2023
Principles and Practice of Cooperation (MA24204)
Day & Date: Thursday, 27-07-2023 Max.

Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 Choose the correct alternative.
is the unit run by Maharashtra State Co-operative Milk Federation

1)

2)

3)

4)

5)

6)

7

8)

9)

10)

Ltd.
a) Mahanand dairy b) Dudh Pandhari
c) Warna d) Lokmangal
The Raffaiesen societies in Germany are based on
a) limited liability b)  unlimited liability
c) unlimited capid d) new technology
The Royal Agricultural Society in Denmark was established in
a) 1650 b) 1679
c) 1702 d 1769

is chief of co-operative department of state.
a) Secretary b) Collector
c) Registrar d) None of these
KVIC was established in :
a) 1942 b) 1957
c) 1968 d 1975

was established in the year 1982.
a) SBI b) RBI
c) NABARD d LIC

The audit which is conducted in between two final audits done mainly to
enable the auditors to complete the final audit quickly is known as
audit.

a) interim b) final
c) test d) concurrent
is a major defect in post independence co-operative movement.
a) Regional imbalance b)  Shortage of capital
c) High over dues d) All of above
Rochdale Pioneer’s Society was established in the year
a) 1844 b) 1885
c) 1890 d) 1895
14 commercial banks in India were nationalised in
a) 1959 b) 1965
c) 1967 d 1969

16
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11) The second co-operative societies Act was passed in India in the

year.
a) 1904 b) 1908
c) 1912 d) 1916
12) In Maharashtra office of commissioner for co-operative societies is located
at
a) Pune b)  Nashik
c) Mumbai d) Kolhapur
13) The highest number of dairy co-operatives are found in region of
Maharashtra.
a) Pune b)  Mumbai
c) Amravati d) Kokan
14) The first successful co-operative dairy in Denmark was started in
a) 1852 b) 1882
c) 1885 d) 1890
15) State Bank of India came into existence in .
a) 1925 b) 1935
c) 1945 d) 1955
16) is the apex of the consumer co-operative movement in England.
a) Co-operative Union b) Lurbrand
c) Retail Societies d) Government Organisation
Write short Answers. (Any Four out Six) 16

a) What is consumer co-operative society?
b) What is co-operative administration?

c) Whatis credit co-operatives?

d) Define co-operative farming

e) State the Directives of NABARD.

f) What is credit co-operatives?

Write answers the following questions. (Any two) 16
a) Explain the features of dairy co-operative movement in Denmark.

b) Discuss the problems of sugar co-operative in Maharashtra.

c) Explain the professionalization of co-operative management.

d) Explain the importance of co-operatives in planning.

Broad answers question. (Any one) 16
a) Discuss the role of RBI in financial support to co-operatives.
b) State the progress and problems of sugar co-operative in Maharashtra.

Broad answers question. 16
Critically examine the co-operative movement in India since independence.
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Seat
No. Set| P

M.A. (Economics) (Semester - II) (New) (CBCS) Examination:
March/April-2023
Industrial Economics (MA24205)

Day & Date: Thursday, 27-07-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM
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) i faa deeadr W< &

3) SIEfe aRo Aheds W o,

3) AENHd SN FHeddl T B
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Seat

NO. Set| P

M.A. (Economics) (Semester - II) (New) (CBCS) Examination:
March/April-2023
Industrial Economics (MA24205)

Day & Date: Thursday, 27-07-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the Correct Alternative. 16
1) provide finance to industries.
a) NABARD b) RBI
c) Commercial bank d) All of these
2) is the problem of sugar industries in India.
a) Faulty government policy b)  High prices of sugar
c) Production of sugarcane d) All of these
3) Industrial finance corporation of India was established in
a) 1948 b) 1955
c) 1980 d) 1985
4) is the reason of industrial sickness in India.
a) Transport b) Mis management
c) Skilled labour d) All of these

5)  Restructure and privatization of industries is the objective of
industrial policy.

a) 1951 b) 1976
c) 1985 d 1991
6) Initially state finance corporations was established in the state of
a) Maharashtra b) Punjab
c) Bihar d) Andhra Pradesh
7)  Social security means benefit.
a) Maternity b) Workmen’s compensation
c) Employee’s provident fund d) All of the above
8)  Control pollution control board was established in the year.
a) 1971 b) 1972
c) 1973 d 1974
9) In India, information technology Act was passed in the year.
a) 1998 b) 1999
c) 2000 d) 2001
10) is the apex bank to finance small scale industries.
a) IDBI b) IFCI
c) SFC'S d) SIDBI
11) Durgapur steel plant was established with the cooperation of
a) Germany b) Japan
c) UK d) USA.
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12) Regarding to total production of sugar in the world, the share of India is
%
a) 10% b) 15%
c) 20% d 25%
13) Dr. Manmohan Singh was introduced model of economic
development.
a) IS-LM b) PURA
c) Classical d) None of these
14) Industrial development Bank of India was established in
a) 1954 b) 1964
c) 1974 d 1984
15) InIndia, Environment protection Act was implement from
a) 19 November 1986 b) 19 November 1987
c) 19 November 1988 d) 19 November 1989
16) Indian Exit Policy declared on
a) September 1961 b) September 1971
c) September 1981 d) September 1991
Write short answers. (Any Four) 16
a) Explain the concept of Petro chemical industries.

b) Explain the concept of social security.
c) Explain the concept of industrial disputes.
d) Explain the concept of industrial finance.
e) Explain the concept of industrial policy.
f)  Explain the concept of public sector industries.
Write short notes. (Any Two) 16
a) Information technology enabled services Industry.
b) Problem of industrial labour
c) Industrial pollution.
d) LPG model
Answer the question. (Any one) 16
a) Explain the role of institutional finance in industrial sector.
OR
b) Explain the causes of and remedies of industrial sickness.
Explain the characteristics of industrial labour. 16
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Seat
No.

Set| P

M.A. (Economics) (Semester - Ill) (New) (CBCS) Examination:
March/April-2023
Macro Economic Analysis (MA24301)

Day & Date: Monday, 10-07-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM
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3) wrer fawas q) IO favgd
%) fhaa favas ) W |d
3) SUMRIER URUITH HROMAT SR gehid —— IraT FHGST elal,
37)  HIHT §) T aEL
®) IEBRT S) W 4
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Seat

NO. Set| P

M.A. (Economics) (Semester - llIl) (New) (CBCS) Examination:
March/April-2023
Macro Economic Analysis (MA24301)

Day & Date: Monday, 10-07-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Rewrite the following sentences by choosing the correct alternatives from 16
those given below:
1) The internal factor determining the consumption trend consists of

a) Vigilance intent b)  High standard of living
c) Freedom d) All of the above
2)  External factors determining consumption tendencies do not include
a) Stocks b) Income
b) Prices d) All of the above
3)  Other factors affecting consumption include
a) Property b) New items
c) Urbanization d) All of the above
4)  The stock of money that is close to the society at a particular time is
yes.
a) Flowing concept b)  Stocking concept
c) A&B d) None of these
5)  The concept of money supply in the traditional approach is
a) Compressed Method b) Comprehensive Method
c) Comprehensive Approach d) None of these
6) Relative income is related to the assumed
a) Friedman b) Keynes
c) Tobin d) Dusenbery
7)  The circular flow of national income in a tri-regional economy does not
include .
a) Remaining World Region b) Capital Region
c) Industry Sector d) Government Sector

8)  The circular flow of national-income in Capital sector includes
a) Labor capital
b) Government tax Government expenditure
c) Import and export
d) None of these

9) National income divided by per capita income .
a) Domestic Product b)  The population of a nation
c) Domestic Savings d) None of these
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10) Consumption expenditure of a society depends on the of the society
while other factors are constant in the consumption function.
a) Cost b) Consumption
c) Income d) Saving
11) Average consumption trend = consumption expenditure +
a) Income level b) Consumption levels
c) Price level d) None of these
12) Subtract the average consumption tendency along with the average saving
tendency .
a) Savings b) Cost
c) Income d) None of these

13) According to Keynes'’s Psychological Theory of Consumption, consumption
costs increase with an increase in income.
a) Higher speed b) Lower speed
c) Same speed d) None of these

14) According to Keynes'’s Psychological Theory of Consumption
Dividends are consumed and saved.
a) Increasing income b) Declining income
c) Rising costs d) None of these

15) According to Keynes’s Psychological Theory of Consumption, with
increasing income comes consumption costs and savings

a) Decrease b) Growth
c) A&B d) None of these
16) Significance of government intervention due to consumption functions of
Keynes
a) Increased b) Decreased
c) A&B d) None of these
Short answer type questions. (Any Four) 16

1) Explain the RBI's view on money supply.

2) Explain the relationship between deficit payment and money supply.
3) Explain the concept of money multiplier.

4) Whatis IS curve and LM curve?

5) Explain the circular flow of income in the three-sector model.

6) Explain the relative income assumption.

Write short notes. (Any Two) 16
1) Fisher's equation

2) Explain the practical use of consumption function

3) Assuming permanent income.

4) The size of the short Phillips curve

Write answer any One of the following. 16

1) Explain the methods of social accounting of National Income.
OR

2) Discuss in detail the marginal efficiency and investment of capital.

Discuss the Keynes's Liquidity Preference approach. 16
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Seat
No.

Day & Date: Tuesday, 11-07-2023

Time:

Set| P

M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:

March/April-2023
Public Economics (MA24302)

11:00 AM To 02:00 PM

AT 2 1) Fd g SRt e,
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Seat
No. Set| P
M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
March/April-2023
Public Economics (MA24302)
Day & Date: Tuesday, 11-07-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM
Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
Q.1 Fillin the blanks by choosing correct alternatives given below. 16
1) Club goods possess the characteristics of goods.
a) Private goods b) Public goods
c) Bothaandb d) None of the above
2)  The book ‘Wealth of Nation’ is written by .
a) Joan Keynes b) Adam Smith
c) David Ricardo d) Thomas Malthus
3)  The goods which satisfy the public needs is known as goods.
a) Private b) Public
c) Social d) All of the above
4) Economic theory of democracy was explained by
a) Downs b) Keynes
c) Marshall d) M. K. Gandhi
5) is a chairman of Indian Planning Commission.
a) Prime Minister b) Finance Minister
c) Agriculture Minister d) None of above
6) is merit goods.
a) Education b) Road
c) Railway d) Water supply
7)  Inallocation of resources decision of is having more importance.
a) Quantity of production b) Production
c) Labour d) All of these
8) Consumption of food is an example of goods.
a) Private b) Public
c) Club d) None of these
9) Private utilities were fulfilled at level.
a) Individual b) Common
c) Government d) All of these
10) Government has to play role in the process of economic
development.
a) Minimum b) Less
c) Vital d) None of the above
11) Problem of allocation of resources arises due to of resources.
a) Availability b) Productivity
c) Scarcity d) None of the above

Page 4 of 5



Q.2

Q.3

Q.4

Q.5

SLR-LD-14

12) Planning Commission was established in India in the year

a) 1947 b) 1950
c) 1956 d) 1958
13) Public expenditure means a expenditure incurred by government
of a country.
a) Central b) State
c) Local d) All

14) Real money burden is known as
a) sacrifice of satisfaction due to money payment
b) Enhancement of satisfaction due to money payment
c) Nonpayment of tax

d GST
15) A person who is paying the tax actually after completing shifting processing
is called :
a) Tax shifting b) Tax Burden
c) Taxincidence d) All above

16) According to shri. P. D. Oza everyday every individual should get at least
calories through his meal.

a) 2100 b) 2550
c) 2250 d) 1950
Write short Answers. (Any Four out Six) 16

a) What are private wants?

b) What is incidence of tax?

c) Give two examples of Indirect tax.
d) What is stabilization policy?

e) What is functional finance?

f)  What is regional imbalance?

Write Short Notes (Any Two out Four) 16
a) Laffer curve

b) Classical view on public expenditure

c) Informational Asymmetry

d) Criteria of optimal taxation

Broad answers question (Any One) 16
a) State the objective of stabilization policy.
b) Discuss on a problem of allocation of resources.

Broad answers question. 16
What is public expenditure? State the causes of increasing public expenditure.
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Seat
No.

Set| P

M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
March/April-2023
Research Methodology (MA24303)

Day & Date: Wednesday, 12-07-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM
I : 1) G ¥ Afrard anea.
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Seat
NO. Set | P
M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
March/April-2023
Research Methodology (MA24303)
Day & Date: Wednesday, 12-07-2023 Max. Marks: 80

Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.

Q.1 Choose the correct alternative from the following options. 16
1) The data collection methods classified into and data methods.
a) Primary, secondary b)  Primary, Third
c) Secondary, third d) None of the above
2)  What is the name of the conceptual framework in which the research is

3)

4)

5)

6)

7)

8)

9)

carried out?
a) Research hypothesis b)  Synopsis of Research
c) Research Paradigm d) Research design

How is random sampling helpful?

a) Reasonably

b) An economical method of data collection
c) Free from personal biases

d) All of the above

How to judge the depth of any research?
a) By research title b) By research duration
c) By research objectives d) By total expenditure on research

Who can successfully conduct Research?

a) Someone who is a hard worker

b) Possesses port-graduation degree

c) Has studied research methodology

d) Possesses thinking and reasoning ability

The Null Hypothesis is generally symbolized as

a) HO b) H1

c) H+ d) None of above

Report writing is

a) Art b)  Science

c) Artand Science d) None of above
is the objective of report writing.

a) Introduction of problem b)  Description

c) Diagnosis d) All the above

Questionnaire cannot be used for the

a) llliterates b) Literates

c) Students d) Teachers
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10) Lottery method is a type of sampling.
a) Non-probability b) Probability
c) Simple random d)  Stratified random
11) Observation implies the use of rather than that of ears and voices.
a) Eyes b) Intelligence
c) Discussion d) Fact
12) Question in the questionnaire are guestions.
a) Written b) Oral
c) Recorded d) None of above
13) is a reality of definition in shorthand of a class or group of facts.
a) Concept b) Problem
c) Observation d) Hypothesis
14) is a proposition to be tested.
a) Hypothesis b) Observation
c) Concept d) Science
15) According to Goode and Hatt is fundamentally a process of social
interaction.
a) Observation b) Concept
c) Hypothesis d) Interview
16) To erase the statement of any theory is the object of the hypothesis.
a) Working b)  Null
c) Statistical d) Research
Write short Answers. (Any Four out of Six) 16
a) What is research design?
b) What is mean by fact?
c) What is concept?
d) State the contents of report.
e) What is mean by case study?
f)  What is formulation of problem?
Write Short Notes. (Any Two out of Four) 16

a) Significance of research design
b) Report writing

c)

Interview method.

d) State the types of sampling method

Broad answers question. (Any One) 16
a) Define hypothesis and explain its characteristics.
b) What is research? Explain the characteristics research.

Broad answers question. 16
State the characteristics of good report writing.
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No. Set| P
M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
March/April-2023
Labour Economics (MA24304)

Day & Date: Thursday, 13-07-2023 Max. Marks: 80

Time: 11:00 AM To 02:00 PM
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2) SHEl IATGHAT WISl Brg?
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Seat

NO. Set| P

M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
March/April-2023
Labour Economics (MA24304)

Day & Date: Thursday, 13-07-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Rewrite the following sentences by choosing the correct alternatives from 16
those given below.
1) is the main feature of the minimum wage.
a) Ban on economic exploitation of workers
b) Prohibition of unethical competition
c) Increase in labor efficiency

d) Above all
2) is the benefit of the profit-sharing scheme.

a) Increased efficiency b) Corruption

c) Delays d) All of the above
3) is the limit of the profit-sharing plan.

a) Delays in allocation b) Uncertainty

c) Lack of coordination d) All of the above
4)  Labour market is market.

a) Perfect b) Imperfect

c) Monopoly d) Monopolistic
5) is a feature of the labor market.

a) Local appearance b) Incomplete market

c) Lack of mobility d) All of the above

6) Physical and mental effort or action taken by human beings to get some
financial reward other than happiness is defined as labor

a) Dr. Alfred Marshall b) Johannes
c) David Record d) None of the above
7) this is the factor that determines the supply of labor.
a) Population growth b) Government policy
c) Wage levels d) All of the above
8) This is a form of labor mobility.
a) Geographical mobility b) Economic mobility
c) Political mobility d) All of the above
9)  This is the reason why workers in India are inefficient.
a) Adverse weather b) Low wages
c) Overtime d) All of the above

10) The wages which will enable the workers to provide food, clothing, shelter,
frugality, rest and in times of crisis are
a) Life wages b) Minimum wages
c) Cash wages d) Real wages
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11) The major obstacle to business mobility is understood.
a) Education b) Lack of information
c) Corruption d) All of the above
12) The Bonus Commission Report was submitted to the Government in 1964
under the chairmanship of , and the Bonus Allocation Act came into
existence after the recommendation of the same report.
a) M. R. Meher b) Dhananjay Gadgil
c) Mehta d) None of These
13) Information on the nature and estimation of unemployment in India is
published by .
a) Planning Board b) State Exchange Center
c) Census Report d) All of the above
14) In 1948, the Act for worker was passed.
a) Minimum Wage Act b) Relative Wages Act
c) Bonus Allocation Act d) None of these
15) This is the main cause of unemployment.
a) Population growth b) Low rate of capital formation
c) Recession d) Above all
16) Bonus Allocation Act was enacted in :
a) 1965 b) 1955
c) 1960 d) 1950

Write Short Answer. (Any Four)

1) What is mobility of labour?

2) What is productivity of labour?

3) Concept of fair wage.

4) State the meaning of marginal productivity.
5) Explain the educated unemployment.

6) What is wage policy?

Write Short Notes. (Any Two)

1) Factors influencing demand of labour.

2) Merits and demerits of recruitment of labour through mediators.
3) Marginal Productivity Theory of Wages.

4) Standard of Living Theory of wage.

Broad Questions.
a) Discuss various causes of unemployment in India.
OR
b) State the impact of rationalization and modernization on employment in
agricultural sector.

Broad Questions.
What is unemployment? Discuss the various causes of unemployment in India.

16

16

16

16
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No. Set| P

M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
March/April-2023
Agricultural Development of India (MA24305)

Day & Date: Thursday, 13-07-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM
I : 1) G ¥ frard e,

2) SoldIdbsSIal 3 Yol T[0T TR,

U1 Telid felel A7 g fHagd Maeiedn SR 4. 16
1) 9RA T4 2l GERel —— JuiaRgH g el
3) 1970—71 d)  1951—52
%) 1960—61 €) 1980—81
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31) ERUT &3l MBR 9 9d
%) faumor ) SIEH g rfAl¥Eadr
3) PICHR I —— AT TAT AR ATAGT .
31) Heomse ufamr q) W) dEeE
®) o A AT ) wWtd! |d
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——— A FHRUATT 3Tell.
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d) 2009 €) 2015
6) UReAl UTaI¥d AreT-rel YHE YR ——— &IFTaR B,
31) e §)  SER
®) AT S) Ii@T AR
7) YRANIS EITNG! —— ARSI &3 Faifdd dieciel favd.
3) =N q)  HPI
P) g S) TIg®
8) ——— T SINII$ AR FecTdl Adied GRUT SN el 37Te.
1) fagre fHaror | §) UR 9RO YReror FiHe
F) HARRRIG URyg ) WDl ARl
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14) SIFII® AR FISH —— & <o <.
%) STFETd q) Quiald R
D) ARSI IR S) dIEdd
15) HRAT WXBR Il 8T HYI Iq=r=aT FAON ——— &M <l
3) 3 cIb q) 15 CaD
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Seat
No.

Set

Day & Date: Thursday, 13-07-2023

M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
March/April-2023
Agricultural Development of India (MA24305)

Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.

Q.1 Fill
1)

2)

3)

4)

5)

6)

7

8)

9)

10)

2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.

in the blanks by choosing correct alternatives given below.

The new agricultural strategy in India was started from year.
a) 1970-71 b) 1951-52
c) 1960-61 d) 1980-81
Institutional factor affects agricultural productivity.
a) Size of land holdings b) Fertilizers
c) Seeds d) Risk and uncertainty
The precision farming depends upon a new technology of
a) Satellite image b) Information Technology
c) Spatial resources d) All of the above
The contract farming was started in in India.
a) 1960 b) 1975
c) 1989 d) 2000

The National Commission on Farmers was appointed under the
chairmanship of Dr. M. S. Swaminathan in the year

a) 1990 b) 2004
c) 2009 d) 2015
The main emphasis of first five-year plan was on sector.
a) Agriculture b) Industrial
c) Service d) None of these
Among food grains the largest increase in area has been recorded by in
India.
a) jowar b) magi
c) wheat d) rice
is the highest policy making body of WTO.
a) Dispute Settlement Body b) Trade Policy Review Body
c) Ministerial Conference d) None of these
box includes subsidies on direct payments given to farmers.
a) Blue b) Amber
c) Green d Al
factor affects the cropping pattern.
a) Physical factors b) Technical factors
c) Economic factors d) All of the above

P

Max. Marks: 80

16
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11) Land reforms in India aim at
a) Distribution of land
b) Purchasing land
c) Reduction in ownership
d) Redistribution of ownership of holdings.

12) White revolution is related to .
a) milk b) fish
c) trade d) forest

13) The Rural Electrification Policy-2006 was aimed at provisioning
electricity to all households by

a) 2012 b) 2009
c) 2017 d) 2020
14) WTO works to promote
a) Grant b) Internal trade
c) International trade d) Transportation

15) Indian government gives subsidy for the agriculture sector stands
the ratio of agriculture income.

a) 3% b) 15%

c) 29% d 35%
16) HYVP is related to revolution.

a) Green b) White

c) Black d) Blue

Write short answers. (Any Four out Six)

a) What is meant by sub-division and fragmentation of land holding?
b) What is cropping pattern?

c) What are the sources of irrigation?

d) Whatis soil erosion?

e) When was W.T.O established?

f)  What is meant by rural electrification?

Write Short Notes. (Any Two out Four)

a) Contract farming.

b) Programs of Wasteland development.

c) Organic farming.

d) Explain the Feminization of Indian Agriculture.

Broad answers question. (Any One)
a) Critically evaluate the green revolution in India.
b) Review the agriculture policy during plan period.

Broad answers question.
State the role of agriculture in Indian economy.

SLR-LD-17
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Seat

NO. Set| P

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
March/April-2023
Macro Economic Analysis (MA24401)

Day & Date: Monday, 10-07-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
I : 1) G ¥ Afrard anea.

2) SoTTRSIE 3fe o1 IO FRfaara
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Seat
No. Set| P
M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
March/April-2023
Macro Economic Analysis (MA24401)
Day & Date: Monday, 10-07-2023 Max. Marks: 80

Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 Choose the correct alternative from the following options. 16
1)  The Mundell-Fleming Model assumes normal wage and price.
a) Increasing b) Decreasing
c) Stable d) Increasing-decreasing
2)  The Real balance effect was presented by
a) Keynes b)  Samuelson
c) Patinkin d) Pigu
3)  Phillips curve shows the relationship between the
a) Inflation and Unemployment b) Income and Consumption
c) Income and Price Level d) None of them
4)  The concept of natural rate of unemployment is related to
a) Friedman b)  Phillips
c) Tobin d) Patinkin
5)  According to Bommel, the relationship between money demand and interest
rates is :
a) Positive b) Stable
c) Proportional d) Cross
6) The IS-LM-BP pattern is related to :
a) Mundell-Fleming b) Keynes
b) Hicks and Hanson d) Patinkin
7)  "Fishers equation is not wrong, they need to be restructured,"” said.
a) Keynes b) Friedman
c) Bamol d) J.B.Say
8)  The concept of rational expectation was first proposed by
a) John F. Muth b) Robert Lucas
c) Thomas Sergeant d) None of them
9) The Post Keynesian approach to demand for money is related to
a) Bamol b)  Tobin
c) Patinkin d) All of the above
10) The concept of kinked Phillips curve was proposed by
a) Phillips b) Friedman
c) Patinkin d) Tobin
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11) The expansion of monetary policy is
a) Increase in money supply and reduction in interest rates.
b) Decrease in money supply and increase in interest rates.
c) Reduction in money supply and interest rates.
d) Increasing money supply and interest rates.

12) The concept of 'Demand-Pull Inflation' was introduced by
a) J. M. Keynes b) Dr. Marshall
c) Prof. Pigu d) Prof. Bamol

13) Mundell-Fleming Model assumes the
a) Rising general wages and prices
b) Declining general wages and prices
c) Fixed general wages and prices
d) Rising general wages and falling prices

14) The change in demand for money is

a) Money Positive b) Interest Rate Negative
c) Interest Rate Positive d) Income Positive
15) The condition of inflation is
a) Fixed price b) Decreasing price
c) Rising price d) All of the above

16) Inthe open economy the BP curveis
a) Positive and moving from left to right
b) Qualitative and moving from left to right
c) Positive and moving from right to left
d) Negative and moving from right to left

Write short answers. (Any Four)

a) Which is the motive that causes people to hold money according to Baumol?
b) Philips Curve reveals the relationship between which factors?

c) Whatis inflationary gap?

d) What is warranted rate of growth?

e) What is meant by natural rate of unemployment?

f)  What is open economy?

Write short answers. (Any Two)

a) Explain the Real balance effect.

b) Explain the Short Run Philips Curve.

c) Explain the Baumol’'s Inventory Theoretical Approach.
d) Explain the Monetary approach to inflation.

Write answer of the any One of the following.

a) Explain the New Classical Approach towards macro economics and policy
implications.

b) Explain the Friedman’s theory of demand for money.

Explain the Tobin’s model of demand for money.

16

16

16

16
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Seat

NO. Set| P

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
March/April-2023
Public Economics (MA24401)

Day & Date: Wednesday, 12-07-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
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M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:

March/April-2023
Public Economics (MA24401)

Day & Date: Wednesday, 12-07-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 Fillin the blanks by choosing correct alternatives given below 16

1)

2)

3)

4)

5)

6)

7

8)

9)

10)

The significant characteristic of a direct tax is that

a) It falls on the poor

b) The impact and incidence is on the same y person
c) Itisregressive in nature

d) Itis equitable

The debt which has been raised within the country is known as public
debt.
a) Internal b) External
c) Foreign d) None of the above
In India the Finance Commission is established after every year.
a) 1 b) 3
c) 4 d 5
Production tax is an example of tax.
a) Direct b) Indirect
c) Special d) None of the above
External public debt leads to in price level.
a) Fall b) Rise
c) No change d) None of the above
taxes reduce income inequalities.
a) Progressive b) Proportional
c) Regressive d) None of the above
Increase in public debt will affect on
a) Production b) Investment
c) Distribution d) All of these
is the period of 13" Finance Commission.
a) 1990-1995 b) 1995-2000
c) 2000-2005 d) 2010-2015
is the type of budgetary deficit.
a) Primary b) Fiscal
c) Revenue d) All of these
is the instrument of fiscal policy
a) Bank Rate b) Repo Rate
c) Tax d) None of these

Page 4 of 5



Q.2

Q.3

Q.4

Q.5

SLR-LD-19

11) Entertainment tax is an example of tax.
a) Direct b) Indirect
c) Special d) None of the above
12) is the objective of fiscal policy.
a) Full employment b) Economic stability
c) Reduction of inequality d) All of above
13) Classical economists have suggested that Government should perform
functions.
a) minimum b) maximum
c) nothing d) None of the above
14) Fiscal policy is implemented by the government.
a) Local b) Regional
c) Central d) None of the above
15) Monetary policy control supply
a) Food b) Money
c) Labour d) None of these
16) Income from export-import tax of government.
a) Central b) State
c) Local d) All of these
Write short answer (Any Four) 16
1) State the advantage of Indirect tax.
2) What is meant by direct tax?
3) State any two recommendations of 13" finance commission.
4) What is burden of public debt?
5) What is finance commission.
6) What is external debt?
Answer the following Questions (Any Two) 16
1) Explain the interdependency of monetary and fiscal policy.
2) State criterions for transfer of resources.
3) Discuss on fiscal sector reforms in India.
4) Discuss the problems of fiscal federalism.
Broad answers question (Any One) 16
1) Explain the various principles of debt management.
2) What is public expenditure? State the causes of growth in public expenditure
in India.
Broad answers question. 16

Discuss the objectives of fiscal policy.
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M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
March/April-2023
Labour Economics (MA24404)

Day & Date: Friday, 14-07-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
I : 1) G ¥ frard e,

2) ITdIbeld 3 Yol o7 SeIfaar.
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M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
March/April-2023
Labour Economics (MA24404)

Day & Date: Friday, 14-07-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Rewrite the following sentences by choosing the correct alternatives 16
from those given below.
1)  The principles of labor welfare include
a) Appropriate wages
b) Respect the sentiments of the workers
c) For the convenience of the workers
d) All of the above

2)  The factor responsible for the problem of child labor is
a) Lowwage b)  plus hours of work
c) Lack of facilities d) All of the above

3) The reason for the backwardness of women workers is
a) Misconceptions about female workers
b) Weak physical ability
c) The decline in women's welfare facilities
d) All of the above

4)  The benefit from social insurance is received by the insured person as

a) Rights b) Empathy
c) Duty d) None of the above
5)  This organization is involved in labor welfare work in India.
a) Central Government b) State Government
c) Labour Union d) All of the above
6)  The problem of child labor in India is of a mixed nature.
a) Social and economic b) Political and cultural
¢) Rich and Poor d) None of the above
7) Improving working conditions means .
a) Clean b)  Air plays
c) Lighting d) All of the above
8)  The principle of Strengthening trade union is
a) One union in one industry b) Few unions in one industry

c) Many unionsinoneindustry d) None of the above
9)  The problem of women workers in India is

a) Low wages b)  High working hours
c) Moral collapse d) All of the above

10) The employee’s is introduced in 1971
a) Family pension scheme b) State insurance act
c) Provident fund act d) Minimum wages act

Page 4 of 5



Q.2

Q.3

Q.4

Q.5

SLR-LD-20

11) act has come into existence in 1948.
a) Minimum wages act b) State insurance act
c) Provident fund act d) Family pension scheme
12) The effect of globalization on labor are
a) Labour reduction b) Employment uncertainty
c) Voluntary retirement d) All of the above
13) Social insurance meant to help in times of social tragedy and
difficulty.
a) Economics b) Political
c) Necessities d) All of the above

14) Due to labor welfare reforms in India
a) Increase in the presence of workers
b) Improvement in industrial relations
c) Increase in the efficiency of workers
d) All of the above

15) The Labor Act was enacted to protect child labor in India.
a) Labour Act 1948 b) Mine Act 1952
c) Child Employment Act 1938 d) All of the above

16) The Comprehensive concept of social insurance includes
a) lliness b) Accident
c) Unemployment d) All of the above

Write Short Answer. (any four)

a) Explain any two causes of weakness of trade union in India.

b) Explain the role of joint management council.

c) Whatis meant by social security?

d) Explain the difference between social security and social assistance.
e) Whatis labor welfare?

f)  Explain the problems of child labour in India.

Write Short Notes. (Any two)

a) Methods of settlement of industrial dispute
b) State Insurance Scheme for the workers
c) Social assistance

d) Retrenchment of labour

Broad answers question.
a) What is trade union? Discuss the various functions of trade union.
OR
b) What is labour welfare? Discuss the various measures adopted for the
labour welfare in India.

Broad answers question.
Discuss the impact of Globalization on the labour in India.

16

16

16

16
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M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2022
Agricultural Development of India (MA24405)

Day & Date: Friday, 14-07-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
I : 1) G ¥ frard e,
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Set

Day & Date: Friday, 14-07-2023

Time:

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2022
Agricultural Development of India (MA24405)

03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.

Q.1

2) Figures to the right indicate full marks.

Fili in the blanks by choosing correct alternatives given below
1) National Rural Employment Guarantee Act was passed in

a) 2002 b) 2004
c) 2005 d) 2007
2)  According to ‘National Rural Employment Guarantee Scheme’ a
guarantee of employment for at least days in a year offered.
a) 75 b) 100
c) 150 d) 200
3)  The Non-institutional source of agricultural credit includes
a) Government b) Commercial Banks
c) NABARD d) Money lender
4)  In the Global Hunger Index Ranking India stands number in 2015.
a) 70 b) 80
c) 90 d) 100
5)  The co-operative credit societies in India started in
a) 1910 b) 1904
c) 1912 d 1918
6) is responsible for poor economic condition of agricultural labour.
a) seasonal employment b) strong organization
c) lack of indebtedness d) Education
7)  The government of India passed standard weights act in
a) 1939 b) 1949
c) 1950 d) 1955
8) Food Processing Ministry established in the year
a) 1980 b) 1982
c) 1985 d 1988
9) unemployment is found in agriculture sector.
a) Disguised b)  Frictional
c) Cyclicant d) None of the above
10) 1In 1980 programme was started.

a) Integrated Rural Development Programme
b) Javahar Rojgar Yojana

c) Drought Prone Area Programme

d) Employment Assurance Scheme

P

Max. Marks: 80

16
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11) The minimum wages act was passed in
a) 1948 b) 1949
c) 1950 d 1951
12) Since 1956 the Government has followed policy of supplying food grains
through .
a) Super markets b)  Public distribution system
c) Co-operative markets d) Retail markets
13) provides short term loan to agriculture sector.
a) ICICI b) IDBI
c) UTI d) Primary Agricultural Credit Society.
14) The Foreign Trade Policy for 2004-09 was declared by .
a) Kamalnath b) Murasoli Maran
c) Dr. Manmohan Sing d) A.P.J. Abdul Kalam
15) In India the structure of Land Development Bank is
a) Two tier b) Three tier
c) Four tier d) None of the above.
16) NAFED was established in .
a) 1956 b) 1958
c) 1957 d) 1959
Write short Answers. (Any Four out Six) 16
a) What is regulated markets?

b) Whatis crop-insurance?

c) What is marginalisation of agricultural labour?

d) Whatis the full form of CACP?

e) Give two major problems of agricultural marketing.

f)  Give two sources of agricultural finance.

Write answers the following questions. (Any Two) 16
a) Explain the methods of fixation of agricultural prices.

b) Discuss about fanner’s indebtedness.

c) Discuss of Buffer stock.

d) Discuss about Rural unemployment.

Broad answers question. (Any One) 16
a) Explain the role of co-operative societies in agricultural credit.

b) Describe the role of Agro-Industries in Rural Development.

Broad answers question. 16

Discuss in detail the problems of agricultural labour.
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M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
March/April-2023
International Trade and Finance (MA24406)

Day & Date: Sunday, 16-07-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
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) 1967 g) 1997
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12) S 9 1geY XAl ANl AT S WM bl Sildl.
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6) ReR AT gearal MY R =l Hrg?
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M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
March/April-2023
International Trade and Finance (MA24406)

Day & Date: Sunday, 16-07-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternative: 16
1)  The concept of balance of payment is related with
a) International trade b) Internal trade
c) State trade d) Local trade
2) Inaninternational trade when the receipts are greater than the payments
then that balance of payment is known as balance of payment.
a) Deficit b)  Surplus
c) Unfavorable d) None of the above
3) is the cause of disequilibrium in the balance of payment.
a) Trade cycle b) Demand for export
c) Size of import d) Allthe above
4)  In monetarist approach the balance of payments is linked with
a) Money supply b)  Supply of goods
c) Supply of services d) None of these
5) is the type of foreign exchange rate.
a) Fixed exchange rate b) Flexible exchange rate
c) Floating exchange rate d) Allthe above
6) FDI means :
a) Foreign Direct Investment b) Food Development Index
c) Foreign Development Institution d) None of the above
7)  SEZ means .
a) Special Economic Zone b)  World Transport Organization
c) Special Export Zone d) None of the above

8) WTO means .
a) World Tourist Organization
b) World Transport Organization
c) World Trade Organization
d) None of the above

9) The “General Agreement on Tariff and Trade” come in to force in

a) 1947 b) 1957
c) 1967 d 1997
10) IMF provides finance.
a) Shortterm b) Longterm
c) Agricultural d) Industrial
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11) After 1991, India adopted a policy on foreign trade.
a) liberalization b) control
c) commercialization d) structuralism

12) Visible and invisible objects are arranged in these two accounts.
a) balance of payment b) profit and loss
c) currentand term d) debtand deposit

13) this is the objective of the International Monetary Fund.

a) Increase International Cooperation
b) Increase International Trade

c) Establish Multilateralism

d) All of these above

14) This is the function of the International Monetary Fund.

a) Exchange rate hike b) Short-term relief
c) Distribution of rare currency d) All of the above
15) was established in July 1944 at a conference in Britain woods.
a) World Bank b) WTO
c) SAARC d) None of these
16) This is the purpose of the World Bank.
a) Reconstruction assistance b) Assistance to developing countries
c) Incentives for investment d) All of the above

Short answer type questions. (Any Four)

1) What is the difference between balance of payment and balance of trade?
2) What is favourable & unfavourable balance of payment?

3) What is exchange rate?

4) Explain Special Economic Zone.

5) Explain any four objectives of World Trade Organization.

6) What is fixed & flexible exchange rate?

Write short notes. (Any Two)

1) Functions of MNC'’s.

2) Demerits of flexible exchange rate & Merits.
3) Balance of Payment in Equilibrium

4) Composition of India’s foreign trade

Write answer any One of the following.
1) Ciritically examine the monetary approach to the theory of balance of
payment.
OR
2) Discuss some of the major problems of Indian foreign trade.

Discuss the impact of liberalization on India’s foreign trade.

16

16

16

16
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M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
March/April-2023
Advanced Banking (MA24407)

Day & Date: Sunday, 16-07-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
AT 2 1) qd g SRt 3re.

2) SoldIdbSIal 3 Yol T[0T TR,

U1 I g fasy aeg g for. 16
1)  RA ——— A &3 YT dehiel goard e,
31) 1965 d) 1975
) 1985 €) 1995
2) 1969 W& ARAT FHAT 7 &Y gReHAR dd AR BT ————
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%) T 6 S)EEICIS]
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3) 1940 §) 1950
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4) Y9RAM UH U0 ———— He) Heqell deb FUL SR AL, AT AT0T
Dol
3) 1935 §) 1938
D) 1940 €) 1942

5) 1953 A ®g WRPR AV YRR DHard AeHRI TR0 JiHdT
= ATYAT DHROYT 3Tl

3) MR 9F q) fieeT #euadl AghN d@
P) IR, SRR
6) WTAuIIG dHhd JEITAd ————— Y .
3) faeell q)  oed
%) Rrerm ) drfdfes
7) MRA CIBIL Al RATYAT INRE L HROAT ATel,
31) 1999 d) 2000
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3) d& UIEd ot q)  rEHa e
%) SfHT AHUTA Il ) AP AT
10) ————— T TR dd W@ BT 31
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) ashaci AR q) g |l
®) TRRGE Al S) T U |d
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3T,
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) 1995 S) 199
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3N TH 9) <
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gad 916 8IS 2Aehl.
3) TP 9 Qe
®) o S) o Yl AR

15) XY ATy ygEdid ——— T U IGa STAHT 379,
) HIeTHTIA DRI BRI q) gSId HOAS] RIS BRI
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31) facia uieqor q) e FEE
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2) CIBIL Tl &R W< B,
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Page 2 of 5



3

H4

U5

el g Sk ol (@Ivdl q9)

1) BT ArwuTard JBHER T SEEAT U DA,

2) d% AN el BIBRI GUROIET JTSTar &I,

3) geA faIqRasT bl W Bl
4) Dol el BRI IRelell TR Wl T BT,

ST 79 (PIvAE )

1) IAAATIS RO JHE IR W BRI
far

2) WraHe dHdl YABT T Bl e D

et g
IR Rerd dabdl ABT AT BRI WL BRI,

SLR-LD-23
16

16

16

Page 3 of 5



SLR-LD-23

Seat

NO. Set| P

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
March/April-2023
Advanced Banking (MA24407)

Day & Date: Sunday, 16-07-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternative: 16
1) Regional rural banks were started in India.
a) 1965 b) 1975
c) 1985 d) 1995

2) In 1969 the 'Nariman committee' divised Bank plans to allow the principles
of regional approach to be adopted

a) Regional Rural Bank b) Lead Bank
c) Rural Bank d) NABARD
3) Loan schemes were first introduced in India.
a) 1940 b) 1950
c) 1960 d) 1970
4)  India established the RBI as the central bank in April :
a) 1935 b) 1938
c) 1940 d) 1942

5)  The Central cooperative training committee in 1953 on the initiative of the
central government and

a) Merchant Bank b) District Central cooperative Bank
c) RBI d) SBI
6) The universal bank is headquartered here
a) Delhi b) London
c) Chicago d) Washington
7)  CIBIL was established in August in India.
a) 1999 b) 2000
c) 2001 d) 2002
8) A new economic policy was introduced in India.
a) 1991 b) 2001
c) 2011 d) None of these
9) Aterm of resolving Bank customer complaints the scheme is useful.
a) Bank customer scheme b) Regulation scheme
c) Banking ombudsman scheme d) None of these
10) This is the head of the International Bank.

a) Financing of import export trades
b) Financing of project

c) Consolation of international loan
d) All of the above
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Q.3

Q.4

Q.5
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11) 'A high level committee' was appointed under the chairmanship of to
reform the banking sector.
a) Chakravatrti committee b)  Khustro committee
c) Narasimhan committee d) All of the above
12) Regarding banks 'Debt Recovery Act' was passed in
a) 1993 b) 1994
c) 1995 d) 1996
13) The Basal accord define the ‘Bank capital’ and ‘Bank ratio’.
a) | b) I
c) I d) All of the above
14) Appointment of banking of ombudsman is made for year after
which the term may be extended for two years.
a) One b) Two
c) Three d) None of these
15) In visionary accounting methods this is primarily intended.
a) assortment of assets b) measurement of income
c) provision for bad debt d) all of the above
16) the board was established in 1993.
a) Financial supervision b) Financial valuation
c) Local control d) None of these

Write short answers. (Any Four)

1) Explain the problem of Rural banking.

2) CIBIL

3) Explain the functions of CIBIL.

4) What is the product of retail banking?

5) Explain the provisions of the Banking Regulation Act.
6) Explain the Basal Accord-II.

Answer the following questions. (Any Two)

1) Explain the authority/rights and responsibilities of banking ombudsman.
2) Take a look at the recent reforms in the banking sector.

3) Explain the concept of micro finance.

4) Explain the code of conduct for debt recovery collection.

Answer the following questions. (Any One)
1) Explain the main features of monetary policy.
OR

2) Explain the role and functions of the universal bank.

Explain the role and functions of reserve Bank of India.

16

16

16

16
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